Student Name:

Find the sum of polynomials

C(5x?+2x+3)+ (x*2—x+1)

. (—3x%2+4x—-3)+(-8x+9)

(s34 25+ 1)+ (5% + 25)

. (5a®—a*+9)+@Ba*—-2a+1) =

. (a* + 2a® + 4) + (a® — 5a?)

(Ut 4+9u+3)+ WP -1)

(10wt +2u—3)+ (W +3u+1) =

. (81y3+ 9y +27)+ (3y*—9)

.(7a® +3a—2) + (—10a® + 2a)

10. (21b3 + 4b + 3) + (2b%* — 11)
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Student Name:

Answers

CGBGx?4+2x+3)+ (kP —x+1) =6x’+x+4

. (—3x2+4x—-3)+ (-8x+9) = —3x>—4x+6

C(s3+2s+ 1)+ (s2 + 2s) =s3+s2+4s+1

. (5a®—a?+9)+ (Ba%?—-2a+1) =5a®+2a*-2a+10

. (a* + 2a® + 4) + (a® — 5a?) a*+ a3 —-3a’+4

C(—ut4+9%u+3)+ (W -1) ud —u?+9u + 2

(10w +2u—3)+ Ww?+3u+1) =—9u*+5u—2

. (81y3 4+ 9y +27) + 3y2 —9) =81y3 + 3y2 + 9y + 18

.(7a* + 3a — 2) + (—10a? + 2a) = —3a’+5a—2

10. (21b3 + 4b + 3) + (2b% — 11) = 21b3+2b*>+4b-11
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